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Calcule :
a) f 22 5% dx

(30 puntos).
Solucidn:
p=5"=p= f 5% da = _ln%5) 5* (Recuerde que (5%)" = In(5) 57 )

g=1>=q¢ =2x

Luego

X J— 2 X 2 X
fx25 dr = lnx(5)5 ~ 0 fx5 dx

Calculemos f x 5" dx usando nuevamente integracion por partes.
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f5”5 dr = ln1(35)5 _ln(5)f5 dx_%5 _m5
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b) 1—sen(z)

cos(x)

(30 puntos).
Solucion:

1—sen(z) dr — f 1 da:—f sen(z) dr = fsec((l?) dx —ftg(ﬂ?) dx

cos(x) cos(x) cos(x)

Calculemos f sec(x) dx.

Jsctoyia - [ st S - | =izt

Hagamos u = sec(z) + tg(z), luego du = [sec(z) tg(z) + sec?(x)] dx

f e i:c)&ji(;()xgg(x) dx = f % du = In|u| = In|sec(z) + tg(x)|

Por lo tanto, f sec(x) dx = In|sec(x) + tg(z)|

Calculemos ahora f tg(z) dx

f tg(a:) dr = f sen(z) dx = v=cos(x)=du=—sen(z) d?f —71 du= — f % du =

cos(x)

— Inju| = — In|cos(z)|

Finalmente,

Lsenle) gy = [ sec(z)de — [ tg(z) da = In|sec(z) + tg(x)| + In|cos(z)|[]

cos(x)



